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Question 1.Select the related word/letters/number from the given alternatives.

ﬁﬁ@ﬁmﬁﬁﬁﬁﬁm?ﬁ/ﬁﬁﬁ/ﬁmﬁgﬁm
Foot : Man :: Hoof : ?

S e @Y ?
Options:

1) Leg

ry

2) Dog

gﬁT

3) Horse

it

4) Shoe

oIdr

o~
Correct Answer: Horse

ey

Candidate Answer: Horse

T

Question 2.Select the related word/letters/number from the given alternatives.

e I Taehodt @ Halotrd efee/3ERI/EEAT H AT |

ACEG : ZXVT :: IKMO : ?

Options:
1) MNOP

2) PQRS
3) RPNL

4) LNPR
Correct Answer: RPNL
Candidate Answer: RPNL

Question 3.Select the related word/letters/number from the given alternatives.

& a1 Tashodt 7 @ Hafetrd efee/3eRI/EEaT # gfav|
68:130::222:7

Options:

1) 345

2) 365

3) 355

4) 350
Correct Answer: 350
Candidate Answer: [ NOT ANSWERED ]

Question 4.

For the following questions
Find the odd word/letters/number pair from the given alternatives

u 71w et 7 & fawer aee/ Fea/ 3R g0 9w
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Options:
1) MARCH

2) MAY
3) JUNE

4) DECEMBER
Correct Answer: JUNE
Candidate Answer: JUNE

Question 5.

For the following questions
Find the odd word/letters/number pair from the given alternatives

fow a1 fashedt 7 & fawe eree/ HEd1/ R oA gfav|

Options:
1) CZHK

2) SENO
3) XUBU

4) MLAG
Correct Answer: XUBU
Candidate Answer: XUBU

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives

Tow 91 fashedt 7 & fawe efee/ HE1/ 3R oA giav|

Options:
1)1:8

2)27: 64
3) 125 : 218

4) 323 : 512
Correct Answer: 125 : 218
Candidate Answer: 125 : 218

Question 7.Arrange the following words as per order in the dictionary
T T 2reel &l Aseehier # feT 71T et o Tar fafew|

1. Follicle 2.Folk 3.Follow 4.Foliage

Options:

1)4,2,1,3

2)3,4,2,1

3)4,3,1,2

4)2,4,3,1
Correct Answer: 4,2, 1,3
Candidate Answer: 4,2, 1, 3

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
A T AT & 18 8, o U ue ofed ¥ T e et 7 & a7 @@ fawmew g S 3w B qu |

8, 15,28, 53,7
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Options:
1) 106
2) 100
3) 108

4) 102
Correct Answer: 102
Candidate Answer: 102

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
=Tl weh @l & 71 B, TN Ueh Ug ofed ¢ 8T 10 fashed] & & ag HéY fashed iAT S 3regsha S |

WFB, TGD, QHG, ?
Options:

1) NIL
2) NIK
3) NLK

4) NJL
Correct Answer: NIK
Candidate Answer: NIK

Question 10.The average age of 19 boys in a class is 21 years. If the teacher's age is included, the average increases to 22 years. What is the teacher's age?

T T A 19 T 1 3Ed I 21 ¥ §1 I e i g o enfAer S S A a7 dea 22 aF g S &1 AR S 3y vl & ?
Options:

1) 39 years

39 9%

2) 41 years

419y

3) 40 years

40 9%

4) 44 years

44 9§

Correct Answer: 41 years

419§

Candidate Answer: 41 years
41 9y

Question 11.A man is 3 years older than his wife and four times as old as his son. If the son becomes 15 years old after 3 years. Then what is the present age of the
wife?

Teh AT 310l Teelt & 3 I 93T § 3R IHHN 38 A 9 4 T §1 3R 9T 3 Wel & STe; 15 T 7 g1 Sl , A SHR! Teoll 1 ATt 37 T8 ?
Options:

1) 60 years

60 I

2) 51 years

513y

3) 48 years

48 a¥

4) 45 years

45 3%

Correct Answer: 45 years

459§

Candidate Answer: 45 years
45 3%

Question 12.From the given alternative words, select the word which can not be formed using the letter of the given word:
Al fashed & & g 2fee YT Sl QU 31T 2Teq & 37ERT T TLWT FXeh LT AT S FeelT & |

UNIVERSALISATION

Options:

1) NATION

2) CURTAIN

3) LIVER

4) AVIATION
Correct Answer: CURTAIN
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Candidate Answer: CURTAIN

Question 13.If FRIEND is coded as HTKGPF then REVEAL will be coded as:

Ife Tk I3 F 'FRIEND' &I ' HTKGPF ' for@r STiar €, aY 33 13 & 'REVEAL' &Y 1 foram SiRyem ?

Options:
1) TGXFCN

2) TGXNGC
3) TXGNCG

4) TGXGCN
Correct Answer: TGXGCN
Candidate Answer: TGXGCN

Question 14.Which of the following interchange of signs would make the equation correct?
Trfai@a 7 & fore Rwel & 319q 7 Seoie O THT T g SIreeiy ?
5+3x8-12+4=3

Options:

1)-and +

2) +and x

3) +and +

4) + and -
Correct Answer: - and +
Candidate Answer: - and +

Question 15.Select the correct combination of mathematical signs to replace * signs and to balance the equation.
FHIEOT &1 Hfoled et & T * ot oy a1fOTclrer Faiel & st & aRafcla R s

48 * 4% 6*3*30

Options:

1) ot =X

2)+, =%+

3)+ + % =

4) =Xt
Correct Answer: =, +, x, =
Candidate Answer: +, +, x, =

Question 16.Find the missing number from the alternatives

w a1w faemedt & @ ofed ug A Aifaw ?

Options:
1) 125

2) 175
3) 225

4) 250
Correct Answer: 225
Candidate Answer: 225

Question 17.Starting from a point, a person travels 3 km towards east and turns left and travels 4 km. Then again he turns to left by 45° and moves straight. Which
direction is he facing now?

TR TATT & AT & TN T el 3 .70, & 1 3R Sl @ 3R ¢ {5 4 Fh.ah, S &1 R ag aTv 450 Fga S <rofalT 81 319 36 Hg fhw Ramdfraiw g ?
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Options:
1) North-East
S-qd
2) North-West
3cak- afRaH
3) South-East
gfayor- afRaa
4) South-West
gfaror- afRaH
Correct Answer: North-West
3ca- IRTH
Candidate Answer: North-West
3cak- afRaH

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement: If he works hard he will be successful in life.

Conclusions: I. He is a hard worker.

Conclusions: II. Hard work pays

TR weaT 3 Uk a1 &) derded 3 7 ¥, fows 3y &) Asend/aAmray, 1 31T 11 fRerrel 31 €1 3maen! faaR aiert § 3 aeraed 6 § 91 a8 afead: o aeai @
et i &aT gl 3mueh! [T et & 6 U 91w gerded 7 & fiA-a1 AfRad &7 & @) Fsay/Aeadr S s ashdr § ?
TFAST : IR I§ FHOR IRAH HM dl a8 Tolecall H el gl S|

sy 1 : a8 HAR IRHH A arell ST

sy 2 : FHOR IRHH Bl AT

Options:

1) Both I and II follow

AT AR II Ty ARy &

2) Only I follows

Fad sy [ afg &

3) Only II follows

Faol fsay [1afg &

4) Neither I nor II follow

AT 1 sy I Tt § 3R &7 € fasany 11

Correct Answer: Only II follows

Fad TRy 1o &

Candidate Answer: Only II follows
Fael fAsHy 11 afg &

Question 19.How many rectangles can you see in the figure?

I 1 oy & fFa=ay 3m¥a &2

Options:
1)9

2)8
3)10

4)7
Correct Answer: 9
Candidate Answer: 7

Question 20.Identify the diagram that best represents the relationship among classes given below
Tennis fans, Cricket players, Students

u a1v et 7 & a5 Hg1 [aohed T S 3egshat & qu a --
o weiwen, frdhe Rrems, et
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Correct Answer:

Candidate Answer:

&
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Question 21.Which answer figure will complete the pattern in the question figure?

FlA-T SccX 3ThTeT Tt JTepic ok TTTET T g Ll ?
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Options:
1)

2)

3)

4

Correct Answer:

Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

& 97 3ea 3Tt 7 F 38 3T F gT et e Il AR
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Options:
1)

2)

Correct Answer:

Wz

Candidate Answer:

Wz

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

e e & 1S 3Ty & FeTer F1 S RWT I § 36 NG ASHN, FIeeT AT Wikt 3 a1G T fohd Scal TSI ST fG@ms Gam?

- By i 34 e B BE B
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Options:
1)

2)

3)

4)

il s

Correct Answer:

2

Candidate Answer:

o

/
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Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I Tk gUoT T MN YET 0 T@T ST &Y &1 918 Seal Aepforat 3 @ splardlh sl geat 3mepfar a1 wér ufafaes gt 2

il R I, L. ol ot

o

Options:
1)
&}
2)
e}
3)
O
4)
Correct Answer:
©

Candidate Answer:

1]
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Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g.,A can be represented by 02, 31, etc., and 'K' can
be represented by 33, 78, etc.

Similarly you have to identify the set for the word 'REST'

AFAfafEd ueat 31 fashedt 3 4T 1T Hear-wefg, 38R & aF q9it gary o a1¢ §, SR o ) fqw a1w 2 Jreggi # 81 3megg [ & aawr iR dea Maeam o d 4 a=w &
TS §, N IR 11 & 5 9 A, 3T TSR § Tah AN &Y Tgel 3Teh! G 3R T1G 7 TA97 TEAT GIRT GRITT ST Fhell &1 361607 & forw A’ &l 02, 31 3778 aRT geiam
ST Fehell & T 'K ' 3T 33, 78 JHTTe; G@RT &R SiT Hehell 1 S8 e A 3Taehl fU gU ree; 'REST' & AT g ol qgaettr ¢

MATRIX - 1 MATRIX - IT

EE SR EiE R P E
1] T R A F E 3 E 5 A F R

30 o G BN P O 6 AR R e s

2 E 5 R i A 7 i o E P S

35| inas| AT INE R PR FiC 80| s ) | el i

& VE | [ il UES END R 9 IR el || E | E
Options:

1) 22, 20, 79, 99
2) 66, 77, 68, 23
3) 44, 77, 24, 87

4)22,77,79,76
Correct Answer: 66, 77, 68, 23
Candidate Answer: 66, 77, 68, 23

Question 26.In a Parliamentary form of Government

FEET TTET T TWER H

Options:

1) The Legislature is responsible to the Judiciary
TAUTAHSS AT & 9T SccRerY 8T &

2) The Executive is responsible to the Legislature.
FTTORT [Er=Hee & T Sccker @ B

3) The Legislature is responsible to the Executive
TS HRAITIR & YT Scaeri giar &

4) The Judiciary is responsible to the Legislature
FTTorRT RAUTeTHE & T Scader gl ¥
Correct Answer: The Executive is responsible to the Legislature.

FRYITRT TAETTHse & Ui Sccer gic &1
Candidate Answer: [ NOT ANSWERED ]

Question 27.Which of the following statements is correct about the President of India ?

R & ST & Goaetr 3 eATod & & $leT-1 vl G & ?
Options:

1) Addresses first session of Parliament after each General Election.
Gedh 31T FoATdT & TGN T8 TG oh TUH T FHI Halferd a2l &

2) Addresses first session of Parliament at the beginning of each year
I aY & IEH & GEE & JUH T & Jld d

3) Addresses every session of Parliament

TG & Tcds §F & Galfad ad ol

4) Never addresses Parliament

e, o el TN 78 |

Correct Answer: Addresses first session of Parliament after each General Election.
Sedeh A JATdT & Ul d6 HEG & TUH Tl Faerd e g1

Candidate Answer: [ NOT ANSWERED ]

Question 28.Which of the following periodicals is not correctly matched with its editor?

ﬁmﬁ@a##aﬁﬂ-ﬁrqﬁwwmm#aﬁrﬁmaﬁ?ﬁ%?
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Options:
1) Bande Mataram:Aurobindo Ghosh
§¢ AGIHA : 3RTSwar gy
2) New India:Bipin Chandra Pal
=g 3f3ar : Rt Teg arer
3) Yugantar:Bhupendranath Dutta
AN : $egaAT Eecll
4) Sandhya:Barindra Ghosh
ger : g |y
Correct Answer: Sandhya:Barindra Ghosh
AT ; INeg O
Candidate Answer: New India:Bipin Chandra Pal
=g 3f3ar : Rt wog arer

Question 29.Silk worms feed on

I & H1F et I Teict & ?
Options:

1) Basil leaves

JorRlr & ded

2) Curry leaves

FU & Ied

3) Rose leaves

peick T

4) Mulberry leaves

FHIY (M) & el

Correct Answer: Mulberry leaves
AT () & el

Candidate Answer: Mulberry leaves

FHIY (M) & Feel

Question 30.Who among the following has been appointed the new Coach of the Indian Cricket team by the BCCI recently?

0.3, 2R Tt 1 A oAl ¥ & R eI e & o e forgger o T # 2
Options:

1) Saurav Ganguly

i atogch

2) Anil Kumble

3ifeter reer

3) Rahul Dravid

REEACES

4)'s. R. Kulkarni

TH. 3. Ferwoit

Correct Answer: Anil Kumble
3tferer Fraer

Candidate Answer: Anil Kumble
3tfeter Fraer

Question 31.What is the product formed when sodium bicarbonate is heated strongly?

S AfTH ShEiae I AT I fhaT ST § af 4T 3cUTe, SeidT § ?
Options:

1) Sodium Carbonate

AT FEfae

2) Sodium Hydroxide

AT grggierass

3) Sodium Peroxide

ASIH RIFAES

4) Sodium Monoxide

AT AT

Correct Answer: Sodium Carbonate

afzas FEfae
Candidate Answer: [ NOT ANSWERED ]

Question 32.Mission Indradhanush - a programme introduced recently in the country by the NDA Government is related to:

&R0 3 1T &Y 3 TS (TSI PR SaRT Y% FrT 1T HalTaT S Rt oy Wafoerer & 2
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Options:
1) Systematic immunization of children against disease
Fo W & Ffct il 1 JoTelisg FicRaior
2) Providing insurance cover to farmers against crop failure
T TATG 8 St et ey 37 TRt T 1T T et Felt
3) Development of fisheries in rural areas
TTHIOT 873 7 AcET-UTele fahiid il
4) Development of multiple cropping in hilly region
qIAT &3 3 hae [aefad Her
Correct Answer: Systematic immunization of children against disease
Fo W & fct sl 1 JoTelisg FRaior
Candidate Answer: Systematic immunization of children against disease

o W o fer Tl 1 JuTeliag Ficaion

Question 33.Who among the following Indians has been honoured by a special Oscar?

rfafld & & fre s i fdw ity qresr feam arar ?
Options:

1) Mahesh Bhatt

R 7

2) Satyajit Ray

Fegaiia ¥

3) Mira Nair

AT AR

4) G.P.Sippy

Sir oY ey

Correct Answer: Satyajit Ray
Fegaiia ¥

Candidate Answer: G.P.Sippy
Sir I fRedy

Question 34.What situation would result if Government expenditure exceeds the Government revenue on Current Account?

T T T TR TERT T THRT Tored ¥ 3770 g1, ar 7 feufey gefr 2
Options:

1) Deficit budgeting

el g91¢

2) Zero-based budgeting

L IR Fole

3) Performance-based budgeting
fAsaTEsT 3TUTRd Seic

4) Surplus budgeting

eIy so1e

Correct Answer: Deficit budgeting
HICT Jalc

Candidate Answer: [ NOT ANSWERED ]

Question 35.Disguised unemployment in India is mainly related to

IR 3 Pl RIS 7Ed &7 A fha e 87 g ?
Options:

1) Agricultural sector

Fv &

2) Rural Area

AT &

3) Factory sector

el a1

4) Urban Area

SRS

Correct Answer: Agricultural sector
Fv &

Candidate Answer: Rural Area
THIOT 817

Question 36.Which of the following is not guaranteed by Indian Constitution?

eAfofad & ¥ SR Sfaur fraehr IRé g &ar ?
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Options:
1) Right to Equality
HHAT T g
2) Right of religious freedom
N TSIy
3) Right to Constitutional remedies
Haenfee ITART T gh
4) Right to free education for all
|3t 1 R8T T g

Correct Answer: Right to free education for all
|t T R8T T

Candidate Answer: Right to free education for all

et 1 R8T T g

Question 37.A wide inlet of the sea usually concave in shape, is termed as a:

TG T T ST STWET (T ARY) S 3THR F G &Y, FAT FEoled § ?
Options:

1) strait

ST

2) Sound

STISHHET

3) Bay

peisl

4) Fjord

TgTEt o after & HHG T
Correct Answer: Bay
@rsr

Candidate Answer: Sound
STISHHET

Question 38.Punjab has a large number of inundation canals drawing water from
YT # T8 HEAT H T A6 &, 5o13 oiel gl ¥ AT Y ?

Options:

1) Jhelum river

EEEEC

2) Chenab river

AT FEr

3) Beas river

ST AT

4) Sutlej river

HeTolf AT

Correct Answer: Sutlej river
TeTofsf AT

Candidate Answer: Sutlej river
TeTof AT

Question 39.The sexual reproductive organs of aspergillus are :

TR & oifeTeh Sietet 39T PlT-T § ?
Options:

1) Spermatium and Oogonium

AR AR 3isUE

2) Antheridium and Oogonium

c_guT;fr 3R 3isEmET

3) Spermatium and Ascogonium
TR 3R ATy

4) Antheridium and Ascogonium

oY 3R e

Correct Answer: Antheridium and Ascogonium
et 3R QBT

Candidate Answer: [ NOT ANSWERED ]

Question 40.Stars twinkle but planets do not twinkle because

AN T ¢, TR 7E 6T Teed Fit
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Options:
1) they emit light of a constant intensity
J TR TSeldT AT YehI2T Scdford ad &
2) their distance from the earth does not change with time
SeTehr gt & g1 §AY & Y IR@fid a1 gl
3) they are very far away from the earth resulting in decrease in intensity of light
q gl & TR gl I § 3R IR TawT Fehrer FT Fererar # FAr g S §
4) they are nearer to the earth and hence we receive a greater amount of light and therefore minor variations in intensity are not noticeable

3 g2l & 1 § AT 3TH 31Tk Fohrer TAeralr § 3R garelelr & afe o1 A aRade gia o § ar d For # 781 3
Correct Answer: they are nearer to the earth and hence we receive a greater amount of light and therefore minor variations in intensity are not noticeable

3 2T & S § AT 3oT3 3770 ThmT FAerar & 3R Saelar 3 A oI A aRace aid o § ar F FoR ¥ 787 3

Candidate Answer: they emit light of a constant intensity

I TR TSl ST TehTel 3cdfold d &

Question 41.Which of the following is not true about X-rays?

TFE-Y & TY # A=Al fashedt § & HiA-ar [ashed T 187 ¢ ?
Options:

1) have low penetrating power

ST FH e &TAT gl &

2) travel with the speed of light

Ig FHIRr 1 AfT & T &

3) Can be reflected or refracted

g Wratdd a1 3vafda et & T &

4) can affect photographic plates

I T Tole FHT THITAT FT Tehell &

Correct Answer: have low penetrating power
SHH HH HeeT &TACT 8l &
Candidate Answer: have low penetrating power

ST FH Nt STHAT N &

Question 42. changes each time it is installed to avoid detection by antivirus software.

Todl TRRE BRI GIRT IdT ST STt & Faet & fov Ae=faf@a & & i s9 ofr v forar siar €, aRafdd gvar &2
Options:

1) Polymorphic virus

YiferTthes arRE

2) worm

anT

3) logic bomb

dliforeh S

4) trojan horse

ot g

Correct Answer: Polymorphic virus
qifaHthes aRE

Candidate Answer: [ NOT ANSWERED ]

Question 43.Which one of the following weeds is effective in controlling water pollution caused by industrial effluents?

PAFffd & & Hi-8 @XUaar i@ afg:ara & g arel STer Jquor 1 i3 T gend & ?
Options:

1) Parthenium

grffes

2) Elephant grass

gl T

3) Water hycinth

re 30

4) Mogar grass

AR g

Correct Answer: Parthenium

EiRicpey

Candidate Answer: Water hycinth
Eckr
-]
Question 44.0ne of the following is also called as World Bank

erfaf@a & O fraer " dF" s war SAaT g ?
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Options:
1) IMF
RIS HgT Y
2) IBRD
FeRISE GeAforHoT T faere S
3) WTO
29 saMR TusT
4) IDA
ITRSET e IE
Correct Answer: IBRD
RIS gATerHoT e faenrg
Candidate Answer: IBRD
Hecsgr qoAfA#HoT ve fehrg do

Question 45.The book entitled, 'Playing it my way' has been authored by

" TOISIT 3T AS T " T o ol T A qdATC
Options:

1) Sachin Tendulkar

G cigert

2) VV S Laxman

4T, dr.ug. SEHT

3) Saurav Ganguly

ik e

4) Chetan Chauhan

el Hitgret

Correct Answer: Sachin Tendulkar
G cigert

Candidate Answer: Sachin Tendulkar

‘ 5
Question 46.Which of the following is an example of Cartel?

frFfaf@d & § HleT-T1 3cares T (FIE) T G0 & ?
Options:

1) OPEC

Yeifore fAaTde eRif ST T (3UH)
2) IMF

RIS HT Y

3) WTO

29 MR TS

4) UNO

HYFA g Hel

Correct Answer: OPEC

geifors fraiaes arif & Herese (31T9)
Candidate Answer: OPEC

Yelferas fAaTds it o Farae1(31d)

Question 47.Sullage water is

3afrse (FelsT) STt

Options:

1) Waste water released from kitchen
TS & Aeherey arelr 3aRIse SToT &

2) waste water released from toilets
AMTER & foishelel aTer H9TASe T §

3) waste water released from factories
FRATAT H felehelel dTel 3RS STl &
4) waste water released from hospitals

3Tl & fAshetet arelr 319fAse Sor g

Correct Answer: Waste water released from kitchen

TS ¥ Aehelal aTel 3RS STl &
Candidate Answer: waste water released from factories

FRETAT H f¥hoter qTel 3ITRISC 5ol &

Question 48.Who was the first woman Chief Minister of Uttar Pradesh?

3eaR eI 1 F2 Aigell HEd FHll e oY ?
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Options:
1) Annie Besant
T ST
2) Mayawati
AT
3) Vijayalakshmi Pandit
[EE Dt R Er)
4) Sucheta Kriplani
AT Faeol
Correct Answer: Sucheta Kriplani
T FHueon
Candidate Answer: Sucheta Kriplani
AT Faeol

Question 49.The most pure form of carbon among the options is

Tefofla famedt 3 & w1 1 9a8 Y8 &7 FA1E ?
Options:

1) Anthracite

TeYgrEse

2) Lampblack

hlsTel

3) Graphite

Iz

4) Wood Charcoal

BT T Il

Correct Answer: Anthracite
TYgrase

Candidate Answer: Anthracite
TYPEBe

Question 50.Chalukya temples (Jain temples) at Dilwara are situated in

TEeTaST & el Aiee (St Afeex) Fel Fud &2
Options:

1) Madhya Pradesh

FET geRr

2) Uttar Pradesh

3eal TeRm

3) Rajasthan

JSTEATT

4) Haryana

ghamom

Correct Answer: Rajasthan
T Tt

Candidate Answer: Rajasthan
ST RATeT

Question 51.The difference between the greatest and least five-digit numbers formed by the digits 2,5,0,6,8 is (repetition of digits are not allowed)

2,5,0,6,8 31t & o=l dTer i Fed T HEAT AR T S HEAT F7 IR BctaT g1 ? (37t TAgeeh HegaAd 761 §)

Options:
1) 69552

2) 65925
3) 65952

4) 63952
Correct Answer: 65952
Candidate Answer: 65952

Question 52.The price of a shirt after 15% discount, is Rs.119. What was the marked price of the shirt before discount

ToRET ISt T Fed 15% 1 P &1 o 16 Rs. 119 1 T & Tgel haflol T Jiehlcl Fed 7 AT ?

Options:
1) Rs.129

2) Rs.140
3) Rs.150

4) Rs.160
Correct Answer: Rs.140
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Candidate Answer: Rs.140

Question 53.

b c
[t S ,find the value of pa+ gp + rcis
a-r r-p  p-q paTap

c
= =__=_°_ drpatgbtrc & AT T §N?
g r-p p-g’C POTANE

Options:
1)0

2)1
3)2

4)-1
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

Question 54.The average of a,b,c is 20 and that of b,c,d is 25; if d=30, then the value of a is

a,b, c & 3T 20 § 317 b,c,d, F1 31aa 25 &1 TfE d=30, Ava FT AT FATE ?

Options:
1) 25

2) 45
3)30

4) 15
Correct Answer: 15
Candidate Answer: 15

Question 55.A store sells a watch for a profit of 25% of the cost. Then the percentage of profit against selling price is

Teh TN H AT Hed o 25% oeT 9X T8 S STl 8| Frsh oo o ot a7 wfceret fvcta gham 2

Options:

1) 22%

2) 20%

3) 18%

4) 15%

Correct Answer: 20%
Candidate Answer: 20%

Question 56.If A is equal to 20% of B and B is equal to 25% of C; then what percent of C is equal to A?

IREA, BFH 20 % F SR & 3 B, C & 25% & sR1&T &, AY C T fohcd=lT Ifaerd A & SRIaT 81T ?

Options:
1) 10

2) 15
3)5

4) 20
Correct Answer: 5
Candidate Answer: 5

Question 57.A gun is fired at a distance of 1.7 km from Ram and he hears the sound after 25 seconds. The speed of sound in meter per second is

TA Y 1.7 o, o0 & el Sigeh @ atel wros Sirelt § 31K a8 37ehT 3Tatst 25 Qehs F1e GoldT &1 JTaTsT &1 i fohera) #lie ufey Yehs § 2

Options:
1) 60

2) 62
3) 64

4) 68
Correct Answer: 68
Candidate Answer: 68

Question 58.A sum of (1 3000 yields an interest of (1 1080 at 12% per annum simple interest in how many years ?

71 3000 T TRY 9T 12% aTieR 3 TTEROT sAqTT 9T [ 1080 T sATST fohctet Treit 3 Ao ?
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Options:
1) 4 Years
4 el
2) 3 Years
3 e
3) 5 years
5 drel
4) 2'> Years
2> |t
Correct Answer: 3 Years
3 9rer
Candidate Answer: 3 Years
3 grer

Question 59.

3B-217+ 420
3 \"’E— 2 \."’2_?+ \"’E

I el AT 4T 7
Options:

1)
3

2
2)%
3) 4%

4)2
Correct Answer: %
Candidate Answer: [ NOT ANSWERED ]

Question 60.

1 1
If (a+—)2 = 3,thevalue ofa® + — is
a a

AR (a+2)2= 3,8 of +2 & A F@?

Options:
1)0
2)
1
3 (a -+ 5 )
3)
o8
3(@*+3)
41

Correct Answer: 0
Candidate Answer: 1

Question 61.
a’+b? b%+c® c*+a?

1
|f = >, = b 2 s 1,
c* a* b k

, (k # 0) thenk=

252 - v B
?‘Iﬁ'a +b :b+c :c+a Z%,(k#-'ﬂ),(_-f\fl(:

o2 a? B3
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Options:
1)2
2)1
3)0

4)
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

Question 62.The area of the largest triangle that can be inscribed in a semicircle of radius 6m is

6 . T aTel 378t & ST S Hehed dTel Fe 3 TH3LT T &1t fehetar g1am ?
Options:

1) 36 m2

36 7.2

2) 72 m?

7272

3) 18 m?

18 .2

4) 12 m?

12 #.2

Correct Answer: 36 m?
36 7.2

Candidate Answer: 18 m?
18 .2

Question 63.
sin® sin 8

The value of R is

siné sin @

Hid &4 Py
1+cosf l—cosﬁa;r %

Options:
1) 2sin6

2) 2cosB
3) 2secB

4) 2cosecd
Correct Answer: 2cosecO
Candidate Answer: 2cosect

Question 64.Twenty women can do a work in sixteen days. Sixteen men can complete the same work in fifteen days. The ratio between the capacity of a man and a
woman is

20 Aige? fondl 1 ol Sl foet & T Fehcll 8| Hicle TI 38T A &1 15 T H T Teohel & | Teh T8V 3R Toh AT 1 67T o5 o1 30Tl il & ?

Options:
1) 3:4

2) 4:3
3)5:3

4)5:7
Correct Answer: 4:3
Candidate Answer: 3:4

Question 65.

2 1
If2x+§ = 4,then the value of 27x% + 7 is

ARG 20+ = = 4, T 27:C+ 553 T AT T §7
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Options:
1) 180
2) 198
3) 234

4) 252
Correct Answer: 198
Candidate Answer: [ NOT ANSWERED ]

Question 66.In a cyclic quadrilateral ABCD «BCD=120° and passes through the centre of the circle. Then ZABD =?

Teh = TGSt ABCD # £BCD=120° 3iR AB Jedl & g & B Iorcll & ol <ABD = ?
Options:

1) 30°

2) 40°

3) 50°

4) 60°
Correct Answer: 30°
Candidate Answer: 60°

Question 67.The midpoints of AB and AC of a triangle ABC are X and Y respectively. If BC+XY=12 units, then BC-XY is

Teh F8fsT ABC & AB 31 AC & #1eY fSwg sharer: X 3R Y €1 M BC + XY = 12 Ffe¥e, &Y BC - XY 7 #leT 1 g1 ?
Options:

1) 10 units

10 gfae

2) 8 units

8 e

3) 6 units

6 afere

4) 4 units

4gfae

Correct Answer: 4 units

4 gfae

Candidate Answer: 4 units
4 gfae

Question 68.In an isosceles AABC, AD is the median to the unequal side meeting BC at D. DP is the angle disector of 2ADB and PQ is drawn parallel to BC meeting
AC at Q. Then the maeasure of 2PDQ is

i T FHEfast AABC &, AD, BC & D W fAciiarel fawaeLsi 1 Hiege &. DP , 2ADB &I HIvT-gfastioreh & 3R PQ, AC & Q W f&ew=iarel BC & WAl Wie Sirelt & o
£PDQ T AT &7 g3 ?

Options:
1) 130°

2) 90°
3) 180°

4) 45°
Correct Answer: 90°
Candidate Answer: [ NOT ANSWERED ]

Question 69.129 meter from the foot of a cliff on level of ground, the angle of elevation of the top of a cliff is 30°. The height of this cliff is

ST T TR T T2 & UIG ¥ 129 HeX W @3 T2 & MY FT 3ea1geT 107 30° §, O 37 T H S8 Fa=w g ?
Options:

1) 50v3 metre

50v3 HieX

2) 45V/3 metre

45v3 AT

3) 43V3 metre

43V3 A

4) 47V3 metre

47V3 A

Correct Answer: 43V3 metre
43v3 A

Candidate Answer: 43V3 metre
43V3 A
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Question 70.The volume of metallic cylindrical pipe of uniform thickness is 748 c.c. Its length is 14 cm and its external radius is 9 cm. The thickness of the pipe is

HHI HITS aTel €T & oI hR ITeT T AT 748 T.A. Tl 30! oiar$ 14 A § 3R ared FBsar 9 @l 1 oy &y Aers fraeh & 2
Options:

1) 0.5cm

0.5 &.7.

2)1.5cm

158

3)1cm

1 a9

4)2cm

2 QA

Correct Answer: 1 cm

1a..

Candidate Answer: 1 cm
13

Question 71.
8 1—sing
If tan & :E . the value ofi is

Y1+sind

_8 Vi-sing
o tang =L @, @ =

Vi+sing
AT AT FifAT ?
Options:
1) %

2) 2/5
3)%

4)0
Correct Answer: %
Candidate Answer: %

Question 72.The bar graph shows the production of table fans in a factory during one week. Study the bar graph and answer the question.

50 IR ATh F TR therdY 7 Ush AcTg & RIAT ¢l Tl o 3cUleeT Y ERIT 14T §| IR ATh 1 7T Hifeiv 3R HeAfaf@a geat & 3ear RfSw|

B0
T 700 =
GO — a0
production —
of 500 =
table fam
A = 360 120
30— 260
200
G 120
100 —f | |
—
MON  TUE WED  THE FRI SAT L4
days ———>

The maximum production exceeds the minimum production by:

HIHAIH ScdTest #geTaH 3cdlest & fohefalr 3ifer & ?

Options:
1) 400

2) 420
3) 500

4) 540
Correct Answer: 420
Candidate Answer: 420
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Question 73.The bar graph shows the production of table fans in a factory during one week. Study the bar graph and answer the question.

39 IR I F T herdy 3 Tk TTdTg & aRTeT &l U@ & 3cqTeeT Sl eRiAT 3T ¥ IR AT Sl JETT Hifow 3R Aefaf@d vt & 3ca) o)

800
T s, |
600 = i
production —
of 500 =
table fan
400 = 360 320
300 — 260
200
Gt 120
100 =
| | ~
MON TUE WED  THE FRI SAT -
days ———>

The average production of table fan in that week is

39 GedTg F e u@t & 3iraa 3care e d ?

Options:
1) 370

2) 280
3) 300

4) 250
Correct Answer: 300
Candidate Answer: 250

Question 74.The bar graph shows the production of table fans in a factory during one week. Study the bar graph and answer the question.

0 9K T 3 Tl therd) & Teh HodTg & ERI el TG & 3cdleeT i &RITAT 1T §| &) a1t ol HeqgeT Hfew 3R Reafaf@d weat & sear Rfsw)

T

production
of
table fan

|§

g % 8 &5 8¢
l

360 e
- a0
200
_ uill
L] N
THE FRI SAT ’

MON TUE WED

dys ——>

Ratio of the total production of table fans in the factory from Monday to Wednesday to that from Thursday to Saturday is

there T A WIHGR A FEAR Teh ol TG oh ool ScTeeT 3N AR F AATR Teh & Fel Scdled I AT foheiall & ?

Options:
1) 19:26
2) 26:19

3) 29:16

4) 16:29
Correct Answer: 29:16
Candidate Answer: 29:16
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Question 75.The bar graph shows the production of table fans in a factory during one week. Study the bar graph and answer the question.

39 IR I F T herdy 3 Tk TTdTg & aRTeT &l U & 3cqTeeT Sl eRiAT 3T | IR AT T JETT HIfow 3R Aefaf@d vt & 3ca) o)

800 —f
T sia |
7 — S
production —
of 500 ==
table fan
a0 = 360 120
200 — 260
200
Gk 120
100 =—— | |
—
MON TUE WED  THE FRI SAT -
days ——>

The average production of table fans on Monday & Tuesdays exceeds the average production of table fans during the week by

HHIR 3R FIEAR & Tael @I 1 3T 3cU1eT 39 TodTg & ael d@l & 3ad 3carest ¥ fordar 31/ grar g ?
Options:

1) 150 fans

150 &

2) 100 fans

100 9=

3) 140 fans

140 9@

4) 200 fans

200 9%

Correct Answer: 100 fans

100 9@

Candidate Answer: 150 fans
150 9=

Question 76.1In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

DECIMATED
Options:

1) CAPTURED
2) DESTROYED
3) DAMAGED
4) WORRIED

Correct Answer: DESTROYED
Candidate Answer: [ NOT ANSWERED ]

Question 77.1In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

INVINCIBLE
Options:

1) IMPREGNABLE
2) OMNIPRESENT
3) POWERLESS
4) POTENT

Correct Answer: POWERLESS
Candidate Answer: POWERLESS

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Diarrhoea

2) Diarhea

3) Diarrhea

4) Diarrohea

Correct Answer: Diarrhoea
Candidate Answer: Diarhea

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

It took her a long time(A)/to get off (B)/the death of her husband.(C)/No Error(D)
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Options:
1)A
2)B
3)C
4)D
Correct Answer: B
Candidate Answer: A

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

It is best(A)/ to be silent(B)/ than to speak in anger.(C)/No Error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: D

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

His father is disgusted(A)/against him for his(B)/addiction to drink.(C)/No Error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: A

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The aim of a Peace Council is rather than cure.
Options:

1) salvation

2) preservation

3) maintenance

4) cultivation

Correct Answer: preservation
Candidate Answer: preservation

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

He gives everyone the class opportunities for practice.
Options:

1) at

2)in

3) of

4) on

Correct Answer: in

Candidate Answer: in

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Harish soon gained in English.
Options:

1) provincialism

2) proficiency

3) efficiency

4) eminency

Correct Answer: proficiency
Candidate Answer: proficiency

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Beggar description

Options:

1) Cannot be described

2) Something described by a beggar
3) A poor account of something

4) A description of a beggar

Correct Answer: Cannot be described
Candidate Answer: Cannot be described
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Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Drag one's feet

Options:

1) Make someting more complicated

2) Expedite

3) Be reluctant to act

4) Stop working

Correct Answer: Be reluctant to act

Candidate Answer: Make someting more complicated

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Hope against hope

Options:

1) Think wishfully from time to time

2) Hoped with good reason

3) Nurture an impossible hope

4) Pretend to hope

Correct Answer: Nurture an impossible hope

Candidate Answer: Hoped with good reason

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Lack of skill

Options:

1) Inertness

2) Insistence

3) Ineptness

4) Insolence

Correct Answer: Ineptness

Candidate Answer: Insolence

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Stick with a thick end used in a mortar for pounding
Options:

1) Thistle

2) Stifle

3) Sceptre

4) Pestle

Correct Answer: Pestle

Candidate Answer: [ NOT ANSWERED ]

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

An act when people vote in order to make a decision about a particular subject or policy rather than voting for a person
Options:

1) Election

2) Exit-poll

3) By-election

4) Referendum

Correct Answer: Referendum

Candidate Answer: Referendum

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Jane had told me that she hasn't done her homework.
Options:

1) told

2) tells

3) was telling

4) no improvement

Correct Answer: tells

Candidate Answer: told

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

This survey is concerning your health as well as that of your family.
Options:

1) concerns with

2) is concerned with

3) concerns to

4) no improvement
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Correct Answer: is concerned with
Candidate Answer: concerns to

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

A city that is set on a hill cannot be hidden.
Options:

1) be hid

2) hide

3) be hiding

4) no improvement

Correct Answer: no improvement

Candidate Answer: no improvement

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

A black and white goat were grazing.
Options:

1) The white and the black goat

2) A black and a white goat

3) A black and a white goat

4) no improvement

Correct Answer: A black and a white goat

Candidate Answer: The white and the black goat

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

I had took the papers to John's office.
Options:

1) will took the papers

2) taken the papers

3) took the papers

4) no improvement

Correct Answer: took the papers

Candidate Answer: took the papers

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

"Tryst with Destiny" was a speech delivered by Jawaharlal Nehru, the first Prime Minister of independent India, to the Indian Constituent Assembly in Parliament, on
14th August 1947. It is considered to be one of the greatest speeches of all times and to be a landmark oration that captures the essence of the triumphant
culmination of the largely non-violent Indian independence struggle against the British Empire in India.

"Long years ago we made a tryst with destiny, and now the time comes when we shall redeem our pledge, not wholly or in full measure, but very substantially.
Freedom and power bring responsibility. The responsibility rests upon the assembly, a sovereign body representing the sovereign people of India. The service of India
means the service of the millions who suffer. It means the ending of poverty and ignorance and disease and inequality of opportunity. We cannot encourage
communalism or narrow-mindedness, for no nation can be great whose people are narrow in thought or in action.

To the people of India, whose representatives we are, this is no time for petty and destructive criticism, no time for ill will or blaming others. We have to build the
noble mansion of free India where all her children may dwell".

To whom did Nehru deliver this famous speech?

Options:

1) Nehru delivered this speech to a massive Indian crowd in attendance.

2) Nehru delivered this speech to the members of the Constituent Assembly.

3) Nehru delivered this speech to the members of the Lok Sabha

4) Nehru delivered this speech to the members of the Rajya Sabha.

Correct Answer: Nehru delivered this speech to the members of the Constituent Assembly.

Candidate Answer: Nehru delivered this speech to the members of the Constituent Assembly.

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

"Tryst with Destiny" was a speech delivered by Jawaharlal Nehru, the first Prime Minister of independent India, to the Indian Constituent Assembly in Parliament, on
14th August 1947. It is considered to be one of the greatest speeches of all times and to be a landmark oration that captures the essence of the triumphant
culmination of the largely non-violent Indian independence struggle against the British Empire in India.

"Long years ago we made a tryst with destiny, and now the time comes when we shall redeem our pledge, not wholly or in full measure, but very substantially.
Freedom and power bring responsibility. The responsibility rests upon the assembly, a sovereign body representing the sovereign people of India. The service of India
means the service of the millions who suffer. It means the ending of poverty and ignorance and disease and inequality of opportunity. We cannot encourage
communalism or narrow-mindedness, for no nation can be great whose people are narrow in thought or in action.

To the people of India, whose representatives we are, this is no time for petty and destructive criticism, no time for ill will or blaming others. We have to build the
noble mansion of free India where all her children may dwell".

Choose the answer which captures Nehru's belief.
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Options:

1) Nehru believed that India could achieve perfection immediately.

2) Nehru said the India's struggle for freedom was new and sudden.

3) Nehru believed that India could take huge steps towards realising its dreams.
4) Nehru believed that India's dreams were too unrealistic.

Correct Answer: Nehru believed that India could take huge steps towards realising its dreams.
Candidate Answer: Nehru believed that India could take huge steps towards realising its dreams.

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

"Tryst with Destiny" was a speech delivered by Jawaharlal Nehru, the first Prime Minister of independent India, to the Indian Constituent Assembly in Parliament, on
14th August 1947. It is considered to be one of the greatest speeches of all times and to be a landmark oration that captures the essence of the triumphant
culmination of the largely non-violent Indian independence struggle against the British Empire in India.

"Long years ago we made a tryst with destiny, and now the time comes when we shall redeem our pledge, not wholly or in full measure, but very substantially.
Freedom and power bring responsibility. The responsibility rests upon the assembly, a sovereign body representing the sovereign people of India. The service of India
means the service of the millions who suffer. It means the ending of poverty and ignorance and disease and inequality of opportunity. We cannot encourage
communalism or narrow-mindedness, for no nation can be great whose people are narrow in thought or in action.

To the people of India, whose representatives we are, this is no time for petty and destructive criticism, no time for ill will or blaming others. We have to build the
noble mansion of free India where all her children may dwell".

The most dominant voice in the speech is
Options:

1) the voice of optimism

2) the voice of surrender

3) the voice of negligence

4) the voice of weakness

Correct Answer: the voice of optimism
Candidate Answer: the voice of optimism

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

"Tryst with Destiny" was a speech delivered by Jawaharlal Nehru, the first Prime Minister of independent India, to the Indian Constituent Assembly in Parliament, on
14th August 1947. It is considered to be one of the greatest speeches of all times and to be a landmark oration that captures the essence of the triumphant
culmination of the largely non-violent Indian independence struggle against the British Empire in India.

"Long years ago we made a tryst with destiny, and now the time comes when we shall redeem our pledge, not wholly or in full measure, but very substantially.
Freedom and power bring responsibility. The responsibility rests upon the assembly, a sovereign body representing the sovereign people of India. The service of India
means the service of the millions who suffer. It means the ending of poverty and ignorance and disease and inequality of opportunity. We cannot encourage
communalism or narrow-mindedness, for no nation can be great whose people are narrow in thought or in action.

To the people of India, whose representatives we are, this is no time for petty and destructive criticism, no time for ill will or blaming others. We have to build the
noble mansion of free India where all her children may dwell",

Select the answer which best reflects Nehru's point of view.
Options:

1) Nehru believed that Communalism would not be a problem.

2) Nehru believed that Communalism would be a positive force.

3) Nehru believed that Communalism would be dangerous for India.
4) Nehru believed that Communalism would make any nation great.

Correct Answer: Nehru believed that Communalism would be dangerous for India.
Candidate Answer: Nehru believed that Communalism would be dangerous for India.

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

"Tryst with Destiny" was a speech delivered by Jawaharlal Nehru, the first Prime Minister of independent India, to the Indian Constituent Assembly in Parliament, on
14th August 1947. It is considered to be one of the greatest speeches of all times and to be a landmark oration that captures the essence of the triumphant
culmination of the largely non-violent Indian independence struggle against the British Empire in India.

"Long years ago we made a tryst with destiny, and now the time comes when we shall redeem our pledge, not wholly or in full measure, but very substantially.
Freedom and power bring responsibility. The responsibility rests upon the assembly, a sovereign body representing the sovereign people of India. The service of India
means the service of the millions who suffer. It means the ending of poverty and ignorance and disease and inequality of opportunity. We cannot encourage
communalism or narrow-mindedness, for no nation can be great whose people are narrow in thought or in action.

To the people of India, whose representatives we are, this is no time for petty and destructive criticism, no time for ill will or blaming others. We have to build the
noble mansion of free India where all her children may dwell".

What mansion did Nehru want to see built?

Options:

1) Nehru believed that the expensive mansion of India should be built.

2) Nehru believed that the honorable mansion of India should be built.

3) Nehru believed that the simple mansion of India should be built.

4) Nehru believed that the huge mansion of India should be built.

Correct Answer: Nehru believed that the honorable mansion of India should be built.

Candidate Answer: Nehru believed that the honorable mansion of India should be built.
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